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Bookiet A (56 marks) _

For eudh question from 1 fo 26, four oplions-are given. One of thom s the correct answer,
MWMG.ZSQGL Shads the vorect oval (1, 2, 3 or 4) on the Oplical Answer Sheet.

1. Study the two groups of animels, P and G, shown below.

Which of the following corseciy describes the characteristios of the two groups of animals

shown above?
[Group | Coversdwith | Coversdwith | Layeggs Givebirth o
- foathers g! fiveyoung
B v )
P v v
T Q v 7
Q v v

A ick (v') shows that the group has the characteristic stated.
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2. Tha tabla describes the stages of the ife cycles of four animals, K, L, Mand N.

Observation
! , K L ~ N
it has a 4-siage e cyce v ‘
The eggs are laid In water Y v R
The young resembies the adult v : 4

A tick (v) indicates thet the characterisiic Is observed.
Which of the animals ls ikely 10 be & grasshopper?

M K
@ L
{3) M
@ N

3.  The diagram shows a plant coll.

Which one of the following stalements s commect?

Part ‘Function
T | A | Controis aciivites in the oeil. -
@ | B 'm“ﬁnmmdsumhmmmuofhm .
ES) c cmunsgmmmmhmssedmﬁummw
] thair young.
&) | D | Contains chiorophyl $o rap sumight
2020 P5 SC A ,
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4, MMmmuMnmuMhmamm
pluoad e oell in a Squki containing substance X.

mmthmmnwunmmhmmmsMh

Which part of the oell aflowed substance X o move info it?
{1) nucleus

ocolf wall
4) coll membrans

8. The diagram shows the cross-section of a flower.

Which of the folfowing comectly identifies the male and female parts of the lower?

male parts ftmalo.parb
(1) AandC B.DandF
{2) ACaondE B, DendF
(3 8,DandF AandC
@ B,0andF _ A CandE

2020 P§ SCSA
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8.  Whidhone of ihe fillowing graphs best the cotrect volums of Gxygen,
carbon dioxkie and nitrogen found in Inhaled air and eoheled eir?

{1)

@ [

) |

www.testpapersfree.com



7. K Chiwanis %0 find out whether a fruit which she has picked up Is dispersed
the same way as the coconut.

Which of the following investigations should she cary out? .

A Find the maes of the frull by welghing it.
8  Cut open the frull to check Fithae 2 Kwous husk.
¢ Pace the &ull in 5 basin of waler 10 o6 W it can float,

(1) AandBonly
(2) BandConly

(3) AsndConly
(4} ABandC

2020 P5SCSA
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B The diagrems show & iubss set up toTweslipate seed gesminalion.

Tube 1 Tube 2 Tube3

g 10 seods @,wm

Bassdontubes 10 8 MMMMMMM»M&Q
WWHMW

m‘rubca $and3

(2) Tubes 3.and 6

'{alm'm'#nﬂs
) Tuwezads

2020 PSSC 8A
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Based on the diagram given, which of the following is comect?

organs that do not produce | orgen where digestion
digostive Jalce stnts :
(1) M J N
@ M, N 3
3) N, K 3
@[ W, K N
2020 P5 5C SA ,
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10, Which ona of the following

paris of a plant?

m

Fruit

diagrams.correclly shows the flow of water and food to the various

Key

Food —_—
Watar =iy

(2)

Fruit

3)

4

2020 PS SC SA
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11, The diagram shows the movement of substances belween the lungs and the hoat.

8

T

e §
Lungs Hearl

Based on the information given, which of the following s oomect?

— _
Wy % Carbon dioxide

(a S ——— —— |
{8) [ Biood rich Jn oxyg Blood rich it carbon dioidde
{4 ‘"W‘m‘ﬁmﬂﬂmi Blood rich In oxygen

12. Dan placed a fresh celery stalk with leaves into a glass of red-coloured waler as shown
below,

Which of the following comeclly states and explaing the observation Dan would make

after 24 hours?
_ ‘ —
(1) [Leaves remained green. Walter-canmying tubes only Wanaport the watsr
and not the red colouring.
2) remaindd groen, Food-carrying tubes are damaged.

(3) | Leaves tumed red.

Water-carrying tubes transport tha-ed-ecloudng-
‘@otheleaves.

(4) | Leaves tumed red.

Food-carrying tubes transport the rod coloured
water from the glass to the leaves.

2020 P5 SC SA
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13. maacwnwnmmmmdmmm

When & sopd laris fo gonninale, the roots witl appoar first,
Tha fult spiits open and the seads are carried sway by the wind:

o O w >

stigma of another flowr.
In which order does the procass of plant reproduction oocur within one cycie?

(1) A8,CD
(@ ACBD
3 BAGD
@) D,B.C.A

2020 P5 SC SA
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14. Difsrent amounts of boling waler wes poured Info similar beeaksrs, M and
at e swms e, The dagram shows the amount of waler (n
The baskers wers then et at the Science room.

i
i

The temperature of water in beakers M and N was monitored and recorded over

gome fime,
Which one of the following graphs best reprecents the results?
(1)%"0('0} - (2) temperature (°C)
100
\
N
N
‘\\\.
0 > 0' - >
time {mirvutes) tine (minutes)
(3) temperature {°C) (4) temperature (°C}

2020 P65 5C SA
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15. The fable shows the amount of fight that can pess through materials, X, Y and clear

glass. :
Waterial | Amount of ight passing through (units)
X 0
Y 2500
Cloor glass 5000

The dlagram shows how matedals X and Y are usad in a set-up.

7Y

torchiight  matedal X materdal Y soreen

Which of the following shows the shadow Skely % be formed ori the screen?

(1) . L

@

"®

(%) [
2020 P5 SC 8SA
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16. Jackson ssis up an expariment as shown below.

He used simiar rods mace of differert materials. He coated a8 the rods with the same
amotint of wax. Hea then atiached the rods to the melal frough containing hot waler.
Afier gome time, he measured tho lenglh of wax melied on each of the four rods.

Hs pictiad a graph as showr: below,

il Ny

Which of the rods is made of the material thet Is the most sultable for making boxes for
sWring ica?

|
Rod
¢

A
B
(3 C
D

2020 P65 SC SA
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17. Study the flow chart below.

m-_ofufo:mwmay identifies the things X, Y and 29
X T ¥
n - Light Walar

Z

Alr
{2) |  Shadow Oxypen Waler
{3} Music | Walsrvapour | Oxygen
ce

@[ A | Waer

2020 P5 SC SA
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18. Ryanmmnnwmmmmmwoan*dmumwm

100cm? of pir added
4000-cr?
ek
pump
p—— — 400cm?®
— — — S o WatOr
— = |
160cm?® of water is removed
He removed 150cm® of water from e fank. Then, he used a pump to add 100 cm? of alr Into fhe
MWNWMMNNMWWWNmmoEMﬂaMih
yvolu
mass of s volume of air
(1) increaces remains the same
(2) decreasas remains the same
{3 remaing the same increases
4 Incrsases incresses
19, The diagram shows the walsr cycle.
-‘ T
oondenses

cvq:orln/‘
to form

water from rivers, lakes and sea

o form

N

-

Which of the following correctly ideniifias T, U and V from the diagram above?

T [T v
(1) rain cloude water vapour
{2) water vapour clouds ain
(3} clouds rain water vapour
(1) waler vapour rain clouds

2020 P56 SC BA
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20, Faith wants to find out what factors affact the reke st which waler evaporates.
Sha canled out an experment wsing the § beakens as shown In the table balow.

Basker | Vome of waleral | Surmounding | Exposed surface | VORIme of waler
thaslartnlg;’ hnq:.gmahm area atluond:
[ P "300 0 Large | !m%m'u"
Q 300 0 Smal 260
IR 300 80 Large T 180
ET 350 © Toe | 200
T 360 80 Smal 220

H%mmﬁmmmmmmdwmm
beakers should she use in order to ensure a fair Jest?

{)PandR
(2)Qand T
{3}Rand 8
4)Pand Q

21. The diagram showa a pot of melted chocolats.

mwuammmmdammhmwotmadmmwmm
mmmmmmmdmmmmwmmwm
on thes metal spoon solkiffles faster than tha chocolalle on the wooden spoon.

- Whiohomdﬂwhﬂmﬁnsmwymm
{1) - Themetted chocolate on tha wooden spoon gained heat faster than from the metal
3] ﬁmmlted chocolate on the wooden spoon lost hest faster than from the metal
@ _m}aned dnwhbgﬁ?ﬂumataispémg'ahqdhaatfwmthmﬁﬂnﬂnwdan |
(4) mﬁaammnmmwmmmmmmmmm.

2020 P5 SCSA _
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Part X of the face shield protacis his eyes from dioplete that may contain viruses.
Matarial Y is used t0 make part X,
Mgﬁmmmmwmdummmmmmw
choegan

Matorial ¥ is .

{t) strong

(2} waterproof

(3) able to fioat

{#) able to conduct heat away slowly

23, David conducted an experiment with three objects, X, Y and Z. He iried to put two objects
near each other as shown in the diagrams below.

Object X . Cbject Y
Object X Object Z
Altract
K J e (o] Q

Which of the following(s) isfare comect?

A Kend L are fike poles.

B Object Y Is a non-nmagnetis object.
C Object Z is a non-magnetic object.
D M e G are uniike poles.

{1) Aonly

{2) Aand Conly
(3} Band Conly
{4} B,Cand® only

2020 P5 SC SA
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24, Nilos fumed « nall info an electromagnel tsing the esi-up shown below. He then

brought | mhummdhwmmmmm
therale n in the number of batierles and colls.

2.9
@@
' The table below shows the resut,
Number of colls Numiber of Numbar of paper
20 4 ‘ 18
) ) %
20 8 X
) 5 5
e N K-

What s the value of X in the teble shown sbove?

23 12
23

(3) 38
(4) 44

18
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— 28, Study the circult dlagram shown.

= &
L

Which one of the following comecily represents the cirouit shown above?

e

6)] 2)

3y . (4)

2020 P56 SC SA
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26, mmmammmmmwm«.mwmm

| siosirioal <iroult as shown below
|
‘ l ! bulb A
. B 0%
| gloss _®___
— b C
l - - c Dwn
Which butbe will light up sfter the swiich je closed?
{2) Dand Eonly
{3) A DandEonly
{4) B,C.DancE ony
7. mmmmmamm&.mmmmmmma
Bght bold is bighter,
mgmqu-)mmmmmmmmmﬁm
A Brandofbubs

B Nuroberof buibe
C  Brand of balisries
D Amangement of bulbs
(1) AsndBonly

"{2) BandConly

{3) B,CandDonly

- {8} ACandDonly

2020 P§ SC SA
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28. Ethan set up the croutts shoun below with identical bulbs and batieries.
Setio

L

) 945

Which of the fokowing staternents about the bulbs in the above dircults are ot comrect?

A  Bulb Z is dimmer than bub Y.
B8 Bulbs Xand Y have the sams brightness.
C  if bulb X Is removed from lts circulf, the remaining buibs wik become dimmer.

(t} Aand B only
(2) BandConly

(3) Aand Conly
(44 ABadC

END OF BOOKLET A

2020 P6 SC SA
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1. Do notiurn over this page until you are told fo do so.
2.  Follow alt instructions carefully.
3.  Answer all questions.

Name:

Class: Pimary 5{ )

Date: 27 October 2020

Total Time for Booklets A and B: 1 h 45 min

Marks for Section B:
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Booklet B (44 marks)

Wite your answers (o queslions 29 fo 40 in the spaces given.

25,  PariAls found on the ieaves of a plant as shown In te diagram below,

a) Stats what parl A ls: : 0

b} Ol s used tn oover al the parts A found on all the lsaves of the plant,

Whist would likely happen to the plant if the ot is left on the leaves for a long i1
period of ime?

cj Explain your answer In (b). ﬁl

2020 P5SCSA
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30. The diagrams show fwo reproduciive calls, X and Y, in the human reproductive

{a) Name the repraductive organ that ptoduaan- ' [1}
{iy Cel X
(W) CellY

{b) Name process Z. | | 0

{0) Farmer Li grows plant Q n-his farm that hes only red flowers or only pink fowers.

.gmmmmmmnmmmwmmmmm

Explain why the new plants wil have only pink lowers, ' {1l

2020 P56 SC SA
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31.  Tim counted the manber of two differant typee of young plants, A and B, af different
m«mmmmmmmmm“mmmwh

Distance from paront Nunber of young plants
plant (m) :

w«»n'wL

» of of &f »

& A N O

{a)  Based on his results, which young plant, A or B, will have to compets more with thelr (2]
parents for survival? Explain your ancwer.

A4,

The diagrams show the fruite of plants A and B.

{b)  Which fruit, X ar Y, is the frult of plant A? 1
Explain your answar.

2020P5 SCSA
24
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32. Plant raneport systom consists of wn typas of libes, water-carnying thbes and food-
| carylng tubes.

| {a) inthe table balow, put a fick (¥} in the comect boxes to indicate where the food- (2
carrying tubes can be found in a plant

Whare fond-oarrying tubes oan be found In e plni

——r—r—— o e

{0} The inssects are found eafing tiwough a stem of the plant. 2
Explain how this affects the growth of the roots of the plant.

2020 PS5 SC 8A
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43, The geaph shows how Javier's heart rale changes over Gme.

Heart Rate (beals per mintis)

0 10 % a0 40 50 60
Thne (min)

(a) Maich the activities in the table below according 10 his haart rate shown In the graph  [1)
by wiiting AB, BC, CD, DE or EF In the correct boxss. -

) Started jogging
~ i)  Cooling dovwn exercies

(b} At which part, AB or BC, did Javier take in imore oxygen”? Explain your answer., e

2020 PS5 SCSA
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34.  Haclor wont on a holkisy during winter. He noliced that he could see a ‘White cloud” coming out of

his mouth &5 he bresthed ouf as shown ln the diagtam Delow,

a) State what the ‘white cloud! Js.

8

b) Explain how the ‘white cloud"is formed.

¢} Heclor needed to wear & thick winter Jacket 1o keep Him warm bacatse of the low
eumounding terpenature,

mwmm‘wmwmmwmhmmrm

020 PS SC 8A
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8, mmm-m.aoma.mammmmupmaw
of lkpdd 2.
w f 3 f

{a) He noficed that the lewe! of iquid Z increases afier ball P Is droppad into i Explain why. 1]

{l;) -Fablen's toacher, bilrs Tan, sak! that ball P is a matter. State what matier ls. _ 4]

{c) _M(ONWMMMnmwmhmdmhbﬂR )]
Beam balance Raler

2020P5 SCS8A
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b)

38, Danny conduciad an experimant by placing two beakers, A and B, sach containing 80 mi of fep

water i the same room
80 ml of :
80 md of
e C—
Bed:ar-A Boaker B

He then measured the volume of the tap weater remuining in each beaker sfter some time, He
Wlﬁmﬁ%hﬂntabbumm

[ Beaker | Expossd suriace arm (o) Vohnndlmmbr
{  remalning {mf)
A 2 T 56
B ® 0

Based on the table above, expiain how the difference in the exposed surfaos area affects
fhe amount of tap water Jost. 1

Danny gondusted his second experiment by using two similar bankers, C and D, each
~contalniig 60m of tap weter.

He ﬂnhpmmeChnﬁnmmﬂwhpmhMD
under a brightly It lsmp. '

Ha recordad his resylts in the table as shown below,

Volume of tap waler

Boakor Fxposed Tomperature of ;
From the table sbove, siate the aim of Danny’s sacond experiment R

¢}

msmmpmmwmamwmmwumur

tap water romaining? .- 1
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37. lon uses an aleciical hot plate to-boll two simiar beakers of water, Each beaker confaine diforent
amount of waler.

Ho wantad to find ot which baaler of water, X or Y, will boll first.

Beaker X Beaker Y

= | Volune of water (ml) 150 200

Temperature of waler before healing (°C) 32 32
#)  State a similarity between evaparation snd bolling. 1)
b) Which beaker of water, X or Y, wil boll first? (]
¢) Explain your answer in {b). L]

2020 PS SC SA
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Question 37 continued
{an used a thick glass cup o make tea a8 shown balow.

'iumml

outer wall
foa bag
Cup made of thick piass

{d) When he poured boling water info the glass cup, it cracked.
Sxplak why,

2020 P5 §C 8A
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a8, Jia Jie conducted an experiment using three simfiar sirips, A, B and C. Each stip is made of
agifferent majerial

Humm&duﬁsﬁphmamwdbpodmmmamdmw
waker 8 shown below,

Hemmudnmwdmmmhwmmmmmmmu

shows in the table below. .
F Svlp Feight of water (o)

A o

—B T
C 15
(a) mmmm&mwmmmm&m {1}

independont variable :
Dependent varisble:

(b} Which stsip of material, A, B or G, is most sultable to meke 3 bath mat? (1)

{c} Expiain your answer in (b). A

2020P5 SCSA
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30, Study the table below.

Waterial
X Yo zZ
Does it afiow most light i pass through? ?et No No
.Does it bend easlly without breeking? No Yot .‘ Yeos
Does it bresk easly? No No vul
Does & sbeort water? No N | Yes

Kelly wanted to mele a contalner to store sugar as shown below,

Whan placed on a shelf, she coukl see caslly the sugar in the container. The container also
-kept water away from the sugar. Part A can be bant esslly so that she can pull & to open

and push it to close the contalner, _

Which material (X, Y or Z) shouki she chooss (0 make parts A and B of the container?
Explain why.

Part A

—Explanation:

Part B:

www.testpapersfree.com



40. Cona has a switch andd two bulbe, A and B, She set ap an slecirdical cireull as shown below.

T

M > B
ma@_—-

{a) When the switch is opened, what will happen to bulb A and bulb 87 Give a reason for your
SNEWEF.

Bubs A , )

A ———A—

~Reeson;

Bub B: 11

Reason:

(b) “Lana wants the switoh 10 be sbie 1o tum off the o bulbe at the same tine by rearranging
 the wires. Lena also wants the brighiness of the two bulbs to remaln the same.

“Draw lnos (reprasenting the wives) In the diagram beiow to reconnect the circult again. 21
O

Bulb A

- Z-

END OF BOOKLET B
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SCHOOL : HENRY PARK PRIMARY SCHOOL
LEVEL : PRIMARY 5
SUBJECT : SCIENCE .
TERM . 2020 SA2
SECTION A |
Q1 Q2 Q3 Q4 Qs Qs Q7 Qs Qs | Q1o
4 4 1 4 1 1 2 4 1 3
Q11| Q12 | 3 | Q14 | Q16 [ Q16 | Q17 | Q18 | Q19 | Q20
3 3 2 4 3 3 2 4 2 1
Q21| G2z | Q23 | Q24 | az5 | Q26 | Q27 | az8
T [ 2 | 1 2 | 1 3 | 3 | 2
SECTIONB
Q29) a) Stomato
b) The plant would die.
¢) Since oll is covering all the parts A, there will be no gaseous
exchange. The plant will not able to make without carbon
dioxide, which was taken In during gaseous exchange, hence,
dead because of not enough food.
Q30) a)i) Ovary ‘
ii} Testes
b) Fertilisation
c) The new plants’ parent has pink flowers. During fertilisation the
colour of the petals of the parent plant is passed down to the young.
Hence, the new plants would have their parent characteristics and
have any pink flowers,
Q31) a) Young plant A. There are more young plant near the parent
plant than young plants further away from the parent plant.

gl
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b) Fruit X. Fruit X is dispersed by explosive action. However, that
kind of dispersal method would not bring the seads very far
away from the parent plant. Hence, more seeds would grow
into the young plant around the parent. |

Q32)

T3

7 7 v | 7
b) The food-carry_ing tubes In the stem are damaged and so food
made in the leaves cannot be transported to the roots, and the
roots will die.

Q33)

a) )BE
H)DE .

b) BC. His heart rate increases so that the heart rate increases so
that the heart pumps bicod faster to carry more oxygenated
blood to the rest of the body. ‘ )

JRET)

- a) Water droplets.

b) Thewarmer water vapour was exhaled from him and it touches
the cooler surroundings. The warm water vapour last heat to
the surroundings, condensed and become water droplets
which formed the white cloud.

€) ‘The thick winter jacket will aliow his body to lose lesser heat.
In the thick winter jacket there are three layers, two are fabric
and one is alr. Fabric and air are all poor-conductors of heat,-
80 heat would not flow through them easily.

o |

2) BaliP s a matter and water Javel has to 7ise since both have
definite volume. |

b) Matter is a thing which has mass and volume and it will take up
space. . '

) |

8

IR

) As the sXposed surface area bf the water increase, the amount |
* of water Is lost will increase.

Pg2
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b) To find out If the surrounding temperature will affect the rate of
evaporation of the tap water.

c) The higher the surrounding temperature, the lesser amount of
water left.

Q37)

a) Water in the liquid form will gain heat and become water
vapour.

b) Beaker X.

¢) There is lesser water In beaker X and so, the water in Baaker X
needs lesser heat energy.

d)- The inner glass wall gained heat and expanded first as glass is
a poor conductor of heat. So heat is transferred more siowly to
the oqter glass wall, causing uneven expansion.

Q38)

a) Independent variable: Type of material
Dependent variabie: The amount of water absorbed by the strip.

b) Material C

¢} Material C absorb the most amount of water among the three -
materials. A bath mat needs to be very absorbent to ensure the
floor is dry so no one will slip and fall.

Q39)

Part A: Material Y.

Explanation: It bends easily without breaking so Kefly can open
the container easily. It also does not absorb water so the sugar
would not be wet.

Part B: Material X.

Explanation: it allows most light to pass through so Kelly can see

 the sugar inside the container easily. It also does not absorb water

so the sugar would not be wet.

Q40)

a) Bulb A: It will not light up.
Reason: The circuit is open as the switch is open. Electric
current cannot flow through open circuit.
Bulb B: It will remain Iit.

Reason: There is still a closed circuit for electricity to flow to
bulb B. '

Pg3
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b)

Pg4
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